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Sports Stadium Data

	Sports Stadium Capacities ~ 2010 (Rounded to nearest 1,000)

	South American Stadiums
	North American Stadiums

	Cali
	53,000
	Ann Arbor
	110,000

	Cusco
	42,000
	Auburn
	87,000

	Lima
	80,000
	Columbus
	102,000

	Londrina
	31,000
	Dallas
	92,000

	Salvador
	36,000
	Madison
	80,000

	
	
	Pittsburgh
	65,000


*Data: http://en.wikipedia.org/wiki/List_of_stadiums_by_capacity 
Measures of Central Tendency for Sports Stadium Capacities
1.  What is the mode?

2.  What is the median?

3.  What is the mean?

4.  Which measure of central tendency best represents this data set? Support with mathematical reasoning.

5.  When you are looking at data sets that have large or expensive items like houses, college tuitions, or cars, where the numbers can vary greatly, what might be the best measure of central tendency to use and why?
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Answer KEY
Sports Stadium Capacities
Sports Stadium Capacities (SA)

1. There is no mode. No data is repeated.

2. The median is: 42,000 (Cusco)

31,000

36,000

42,000

53,000

80,000
3. The mean is: 48,000 

31,000 + 36,000 + 42,000 + 53,000 + 80,000 = 48,400
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4. The median best represents the data. The data is skewed and the median will give a better representation of the data so that the outlier (80,000) is eliminated. In this case, 42,000 is equidistant from 31,000 and 53,000. The mean (48,400) is much closer to the 53,000 than the rest because it is affected by the outlier 80,000.

5. Median. When data is skewed, you will be able to use the median to get a better representation of data, so you eliminate any extremely high values or extremely low values. The median is not affected by these outliers. 

Sports Stadium Capacities (USA)
1. There is no mode. No data is repeated.

2. The median is: 89,500 

65,000

80,000

87,000

92,000

102,000
110,000
87,000 + 92,000 = 179,000 ÷ 2 = 89,500
3. The mean is: 89,333.33 

65,000 + 80,000 + 87,000 + 92,000 + 102,000 + 110,000 = 89,333.33333…
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4. In this case, the mean and median have similar values. We can say that the data is symmetric around the mean. Although there is a high value, it is balanced out by a low value.

5. Median. When data is skewed, you will be able to use the median to get a better representation of data, so you eliminate any extremely high values or extremely low values. The median is not affected by these outliers. 

